1 Match List T with List 1.

List 1 List 11
a.  Kabir of Rajasthan L. D‘_"“Od“r Lal V3_’35
b.  Jalpari of R‘ajaslhzm II. Kishan Lal Soni
¢.  Iron man of Rajasthan [II. Reema Dutta
d.  Rail baba of R{.ljaslhan IV. Dadu Dayal
& T gl 1w e i '

w1 o I
a. TN & HER . TR @ A
b. IR B WA 1. feee @@ |
c. TR & WE g6y M. $mr &=
d. TS &1 @ IV. =3[ &

Choose the correct answer from the options given below:

e R U feedt ¥ ¥ w8 o @ T A

(A) a-Il, b-IV, c-II, d-I B) a-IV, b-IIL, c-I, d-II
(C) a-lV, b-111, c-II, d-1 (D) a-l, b-III, ¢-I, d-1V
(E) Question not attempted / srafa wew

What does question mark in MS PowerPoint Window represent?

(A) Status Bar (B) Menu Box
(C) Formatting Bar (D) Title Bar -

(E) Question not attempted 4

T T IR uise fet WX wonares fw wr asar 7

(A) ®<E s} B) ¥ g
(C) wrAféT s (D) <gew X
(E) orqata wow s

In diagrammatic representation of data, sometimes false base line is drawn. Whi
following is not correct about false base line? It is drawn -
(A) to economise space '

(B) for magnifying minor fluctuations

(C) to calculate median

(D) to avoid clumsy look of graph

(E) Question not attempted

! & ST et & -y sl EIBIEy

ﬁaﬁammmm%?g&@mw%_

(A) ®m Tam % firg

B) B2 qeag & wwmd 3 fig
(©) mewm%m
(D) T H AL T2 3 g
(E) orafia wev - -
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Which movement was led by Shri Vijay Singh Pathik?
(A) Non- -Cooperation Movement

(B) Bijolia Kismgt.{’(\ndolan 00
(C) Chipko Andolan er_:
(D) Shekhawati }\ndolan g
(E) Question not~attemptcd -
A fosraftie oire g @ a1 eree gwmar T ? {P;
(A) smEamT anrc:‘rm ah
(B) fa=nferar ﬁwﬁ' IR
(C) Tawmr sridies e
(D) SramE mfm | i
H
(E) Cﬂ‘:ﬁﬂiﬂ EER P -

=
S Use given percen‘tlle curve to find percentile equivalent to mark X = £49.5.

fag g yfasas qﬁmaﬁ)azs@rﬁugx 59.5 %QWH%QWWWI

PERCENTILE CURVE
Y 4 RIRFREEED ©
100} e Y~
T oof _
~
= % 80} <3
E é 70} o
o = 60F Q
gﬁ sof X
& g 40p o)
Sz 30F
G 20 -
E 10t N o
SR FEE T d
F . ;:MARKS/‘?,EE g
it =
(A) 40 S (B) 85 X
c) 75 o (D) 100 o
(E) Question not attempted / SFARE W
o S’)J
How many layers"are in the OSI Model? "
aft.ug.amg, Hisd ﬂ‘ ﬁo‘cﬁﬁ o E7 o
(A) 3 c::» (B) 4 : o
(C) 6 0 (D) 7 (r?l
(E) Question néég_fattcmpled / ergafd 99 =
pcoM-1] &3 3 o

L —ETETET—TETR, o T T BT T RNy !



: ; e year :
7  Calculate the Cost of living index in 2015 with 2010 as the base y

Commodity Price (X per unit) Quantity Consumed
2010 2015
A 10 20 3
B 20 30 -4
C 30 80 2
2010 &t SR a¥ 79 BT, 2015 § o Fafe @@ gahid B T §
() (v 37 7w T 9) (agg N @wa H)
- 2010 2015
A 10 20 : 3
B 20 30 4
C 30 80 2
(A) 200 (B) 300
(C) 400 (D) 100

(E) Question not attempted / srgafia ws

8 In MS WORD, key F12 opens : v
(A) Open dialog box (B) Save dialog box

(C) Close dialog box (D) Save as dialog box
(E) Question not attempted

T U9 98 ¥, F12 @1 (key) & <1 gerar & :

(A) Sliue sm@rT Sie (B) ¥= smw €
(C) = S/EET iy (D) ¥ wq sE@nT SiRg
(E) ergaia usH
9  Choose the incorrect statement for the reason to prefer sampling method instead of census
method. ‘

(A) Migration of population.

(B) Census method is not realistic.

(C) In cases where size of population is very large.
(D) More cost and time are required for census,
(E) Question not attempted

Wﬁﬁﬁm&mmaﬁﬁﬁmﬁmarﬁm%ﬁ%mﬁﬁ,ﬁwﬁﬁ,araarmmmfm
I .

(A) TIEET & WM 95aqq @1

(B) s fafy wée @ &)

(C) & wrHl o el e gga o ¥

(D) wmoET # eiftd @Y oit ue @ i

(E) egaia wed

4 ) Contd...
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0 What will be cocefficient of range for the following distribution?
Age(inyears) [16-20 [ 21-25|26-30 | 31-35
No. of Persons 15 10 27 8
frrafafaa @27 & fag ware quis @ g ?
smg (@ #) [16-20 | 21-25|26-30|31-35
afrral @t g ar | 15 10 27 8

(A) 0.37 (B) 0.39
(C) 0.4 (D) 0.5
(E) Question not attempted / e afa us

1 The firm’s demand curve and industry demand curve will be the same ina___ ~

(A) Monopoly market (B) Duopoly market
(C) Oligopoly market . (D) Competitive market
(E) Question not attempted

ot & &1 AT 9% qur SErT AT 9h ¥ grEy BTl

(A) THIHHR G (B) zafga

(C) SreTfya arr ' (D) wfereadi a=r

(E) ergaia 99

2 Which of the following is NOT a transfer payment in the National Income Accounting?
(A) Drought relief payments
(B) Unemployment benefits
(C) Salaries of Supreme Court Judges
(D) Interest on Government bonds held by Indians
(E) Question not attempted
TP T AT ¥, e A &, B A1 e g TE w7
(A) gar Ted YA -
(B) U @A
(C) @dtea <amared &% =qrardiel &1 IaT
(D) uRdIE % 9 W GIHTd die ¥, S 9 S

(E) ergafid 9sd

3 Which of the following is NOT a part of Eastern Plains?
(A) Ajmer (B) Bundi
(C) Mount Abu (D) Kota

(E) Question not attempted
Prafafag & @ @ @1 gal dgH & AT @ g7

(A) et (B) &
(C) urz &g (D) @r=T
(E) ergaf@ v

Com-1] &3 . _ [ Contd...




14 Match List I with List IT :

List 1 a0 List I 0
a.  Income reccived ffém property and 1. ° Depreciation reserve funds
entreprencurship j* '22*
b.  An annual dllowana for wear II.  Value addition O
and tear of a Cdpltal Goods {:':*
¢.  Unforeseen obsolescence of III. Operating surplus ‘/;5
fixed asscts dlll'ingf‘;ﬁiroducti011 i
d.  Excess in value of output over IV. Capital loss
value of intermediate consumption oo
@I%wu@llaﬁg&&aﬁq i)
T 1 @ 11 &
a. wﬁmawwﬁr%mm I e amtia fifa
b. Fodt Gt g A S ¥ g I g O
e w= 0N O
c. IUREA B IRE Rmﬁ‘?qﬁamﬁﬁfr & 1l yEwE sae gl
AHIAB STHAAT

d. mﬁw&wiwwzﬁr IV. gsit =i
id
St it
Choose the correct answer from the options given below:

I fag U fyebedt § ¥ G TR @ TEA BT ¢

02004158

(A) a-IV, b-IIJ; ¢ ﬂdﬁ (B) a-III, b-1V, c-I, d-II
(C) a-IIl, b-I, c-IV, d- II (D) a-I, b-1I, c-I1I, d-IV
(E) Question not attempted / A s
oo o
15 The difference by which actual aggregate demand exceeds the aggregate ‘démand require
to establish full employ‘ment equlllbrlum is known as . ‘:i
(A) Deflationary gap L’.’,‘; E‘B
(B) Full employment ¢quilibrium -
(C) Under employment:gquilibrium _ N
(D) Inflationary gap ) ' (63

(E) Question not attempted \
az i fradh g andfeggyam /i, qof A @gad B @l & 6 Recemayas g o

g 9¢ WG B, 99 ) wed ¥ Ty}
(A) @uEhifaat s | g ‘ g
(B) WWW tﬁ s )
(C) o9 Uame dged o
(D) vt simom O o

(E) omafe we o i E ..

92COM-1| ¢£3 6 Sy [ Contd-



(6 Which of the following is a measure of central tendency?
(A) Width of class interval (B) Mean
(€) Cumulative frequency (D) Range
(E) Question not attempted
f=r A B W = wgh @ wm e
(A) @l sive @ s (B) e
(C) W=l ariErEr (D) uTd
(F) orgaia usw

7 A profit maximising firm will stop producing in the short-run, if the price is .

(A) Below the marginal cost (B) Less than average variable cost

(C) Equal to average cost (D) Less than average cost

(E) Question not attempted

RIERCAL G| ¥, A UE i @ A BN, o H ¥ ST Bl 48 BT
(A) i o A A (B) @ied IX @FE § &9

(C) ol @FE &% SR (D) ofra W & HH

(E) orgaia ws

8 Consider the following statements related to the Central Bank :
Qualitative credit control tools control the extent of money supply.
Credit creation is inversely related to Legal Reserve Ratio.

Time deposits have fixed period of maturity.

Credit creation is directly related to money multiplier.

The inter-bank deposits are the part of money supply.

fa W12

5.

Choose the correct answer from the options given below :

(A) 1,2, 3 and 4 only (B) 2 and 4 only
(C) 1 and 5 only (D) 1, 5 and 4 only

(E) Question not attempted

A=za ¥5 ¥ gaf e sl W RER i

TeT YR % ARSI/ Y o §re s syt g Frf e s )
qrg fmfor g s o ¥ wloeifa & & ddfa §

STaRE T @Y uigeadr @ FiEa et ekt ¥ -

arg Fref g3 e d o w9 Y e ¥

Siqde ST el YT & T W ¥
%&qmﬁmﬁ%aﬁwmwﬁm

(A) &aa 1, 2, 3 3T 4 (B) &aw 2 7T 4

(C) &aw 18X 5 (D) &aw 1, 5 alX 4

(E) egafi@ w9

2CoM-1] &3 7 [ Contd...
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19 Match List I x}i}h List II:

List I (Local Devi / Devtas) List II (Placésﬁ‘}bf Birth)
a. Tejali v I. Kolu ;;
b.  GogalJi 1L Jodhpur  ©
c.  Talli NatiD M.~ Churu ?’
d. Pabu Ji g IV. Nagaur G‘:
T 1 % wrg g I @t gafera wntfg:

T 1 (e ) T 11 (@ @)
a.  dor S Le; I &g
b. T T L W
c. T O . g8

O

d. ug s y IV. FmR

Choose the cor:rect answer from the options given below:

A g e ferdedt & W S @ A B

(A)
B)
(©)
(D)
(E)

20 Method of moying average is used for measurement of -

(A)
(B)
(©)
(D)
(E)

gl (o) mwﬁfﬁwwﬁwﬁxaﬁswﬁﬁmw%?

(A)

allblg;fcwdl
a-IV, b-111§ c-II, d-I
a-1V, bII‘*’cIII d-I

a-III, bHﬁCIV d-I
Questlongréot attempted / TR U

Seasonaf‘Variation
Cyclic Varzlatlon
Irregular Variation

a5
Trend ¢y
Questior“not attempted

’ﬂﬂ‘ﬁqﬁ'}lﬁﬂ

92COM-1] &3 8
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21 Match List T with List II :
List I (Schemes)
Raj-eGyan portal

List II (Objectives)
Provide quality diagnostic services

a.
b.  Meena March [I. Education through English medium in
32!.‘1? . backward block of'The state
C. lekhyamm]mmishulk Janch III. Provide digital cou“rgsc material for
Yo‘]anz.l. iﬁ! students upto 12th gt;mdard
d. Swami Vivckggﬂanda Government IV. Raise awareness amiong parents related
model school ¢ to social issues 7
gar 1 & qr g el gafda i LY
a. S35 U, [ Tyt fremers @grd ga e
b A I wa % Rim? gy w3 offefl
¥ gra e v
c. e fryen Wi der 1L e 12 @ & Rrenfigdl % ferg feforea dre
o qEE A BT
d. @ s GIECIS T IV, aferaet & areiege) & dafea srredd
oy I BT o}
Choose the correct answer from the options given below:
I faw g Rremed §o@ WO I E gAT DI s
(A) a-lIL, b-1V, cily d-I B) a-IlI, b-TV, ¢, d-If}
(C) a-1V, b-IIL, c4H d-I (D) a-l, b-IIL, c-L, d-I%j
(E) Question not “Httempted / STgART 9T -
= S
o

Match List I with f‘ist II :

22
List 1 (Typeg(’;f Market)

List II (Features)J:

a. Perfect competition I. Single seller
b.  Monopoly ¢ II. Availability of close substitutes
¢.  Monopolistic;eompetition III. Kink demand curvé}
d. Oligopoly IV. Uniform price preg&:ﬂs
@I%maqﬁr.lﬁaﬁgﬁr&maﬁﬁm= o

@ 1 (@ Fye) o 11 (Rewm) o
a. T’i qﬁﬂrﬂﬁ o I. U fashar (N
b, ualm@ER OO 11 free @G- & Juea
c. U@l gf%fi‘%if 111, fe @t @ ®
R 112 LY V. THEHE B B D
Choose: the correct-dnswer from the options given below: L
S faw T feeedl AR W€ AT HT 9AT AT v
(A) a1V, b1l cf) d-I B) a1V, b, eI, ¢
(C) a-1V, b-l, c-IILd-1I (D) a-1V, b-II, c-1II, d-y

(o)

(E) Question not g{tempted / it 99

92COM-1] «3 9
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23 Value of b in trend line y=a + bx is -
(A) always negative (B) always zero
(C) can be both positive and negative (D) always positive
(E) Question not attempted
ygi (STAf) @i, y=a+ by N, b & WH BT & -
(A) T TOTHED (B) @ g
(C) w® ¥R FOMEH AN d9T @ (D) WF YATHD
(E) gaRd wed
24 Match List I with List II:
List I (Book) List II (Writer)
a. Bharteshwar Bahubali Ras I.  Bhatt Sadashiv
b.  Prithviraj Raso II.  Gopinath
c. Raj Vinod ~ 1II. Chandra Bardai
d.  Granthraj _ IV. Shalibhadra Suri
@ 1% T g 11 @ g iR
o 1 (g i 11 ()
a. HALET SEEel 6 IR ER RN
b. YHERS A II. T
c. U™ faAE V M. o= S&E6
d. g™ IV. smaws g
Choose the correct answer from the options given below:
'—ﬁ%&qmﬁmﬁéaﬁwwwm:
(A) a-1, b-1V, c-11I, d-II (B) a-1V, b-l, c-III, d-I1
(C) a-l, b-11, c-1, d-IV ' (D) a-1V, b-1lI, ¢-1, d-11
(E) Question not attempted / Srgafd W&
25  Short-cut key combination to open Font dialog box in MS Word is :
wE, @ § g sradr ae & g &g adwe @t (key) WO B WS
(A) Ctrl + Shift + G
(B) Ctrl + Shift + L
(C) Citrl + Shift +V
(D) Ctrl + Shift + F
(E) Question not attempted / STTaRE W&
92COM-1] ¢« 10
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20

28

Match List 1 with List 1l :

List 1 List 11

a.  Short cut Key combination used to return to 1 Ctel + D
ht\t slide during slide show

b.  Shartjcut key combination used to change u; I, Cul+ N
casg-of kttu\ in PowerPoint, rd

¢.  Keysboard short cut combination tor creating < M1 Shift -+ Py
dnplu.‘mc slide in PowerPoint - ‘

d.  Shortcut combination used for creating blank & IVe 1+ Enter
presentation in PowerPoint

@ 1 3: mil {Ltﬂ 11 ¥ g‘}ﬂ‘fﬁ “‘]lek o)
l ’{fh 11

a m ‘M W wE WS WAy o e ” . Cul+D

n'éma?t(kc\)mwsﬂ ol

b, TERGEE ¥ qul W TeR () vaen % fig ot 1. Cul+N
WeEE D (Key) & wqeH o

c. UER- \xr“‘z b} §Wh'?r£ WES T & fog a O 1L Shift + Fy

IV. 1+ Enter

d. ‘“&vr&ammemm@w)
a‘#ﬁ%ﬁmqnémmﬁrﬁ

28]
Choose the correct answer from the options given hclol\f‘)

ﬁ%&qﬁﬁ;ﬁmﬁﬁaﬁwmwaﬁm ‘Q

(A)  a-TVab-lIL c-1lL d-1 (B) a-1V. b- lll ¢l d-ll

(&) a—lV“b L. c-111, d-11 (D) a-L b-ll; u—lll d-1V

(B) Queatmn not attempted / ARG W cj

The salar) of a person was reduced by 20%. By what i‘\!ccntugc his reduced salary be

O
raised so as to bring it at par with his original salary?

qzsazﬁamréaamamﬁmwmlw%m%@éaﬁ@mﬁmmmmﬁsag

amﬁaéa?%wﬁm? A -
o

(A) 25;:_ ®) 335 ;_;

©) 270 (D) 20 -

(E) Quéi'uon not attempted / SFARA WA (C‘D

An 1ndc\}numbcr is at 100 in 2005. It rises 4 percent m&OO() falls 6 percent in 2007,
falls 4 percent in 2008 and rises 3 percent in 2009. Calculate the index numbcr for
vear 2008; taking 2007 as the base year. 09

T 2005 3 gEE® 100 ¥1 2006 ¥ 3% 4 v A gfy, 2007 ¥ 6 wfvra = free, 2008
ﬁ4wﬁfsraa$rﬁmazaﬁr°009ﬁ auﬁfsmaﬁqhaé\%r‘aé 2007 @ 3MUR q¥ WHS ¥Q

¢ 2008 & gUHE T BT

(A) 9383 B) 94 o
© 96 D) 955
(E) Qu%;ilon not attempted / Igafa wed %)

92COM-
M1] & 11 | Contd...
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30

92COM-1] 3

Read the correct statements related to Net National P.roduf:tIVIt}'- S
1. At the time of rising prices, NNP at current prices is 1ess than at congt,
rices.

2. g\t the time of rising prices, NNP at current prices is higher than NNP at cong,
prices. : )

3. NNP at current prices and NNP at constant prices are always same, 1rrespective
change in prices. L

4 NNP at current prices is equal to NNP at constant prices at the time of sta}
prices.

5. NNP at current prices can’t be equal to NNP at constant prices.

Choose the correct answer from the options given below :

(A) 2 only (B) 2 and 4 only

(C) 4 and 5 only (D) 1 and 3 only

(E) Question not attempted .

i TS SARHA ¥ ged ¥ R T %E w6

| Eme % Tod g ut, = el ot fraw e g (NNP), R @l et e
SAE ¥ B B § ;

2. @Hal ¥ ghe & 9Hg, o bl ¢ Fram i sa (NNP), forx Pl ux Frad
IaE ¥ afue o ¥

3. WWWWWWW)HWWW'WWWWN
St  ghe A Froda wa §AHE @ | .

4 Reg EEE B OW U, O Sl 9X e T AR (NNP) fert ®mal a¥ o T
@ (NNP) & &€t e &1 | |

5. o emdl W Frad T 3R (NNP), fer Bl T Fraw g s (NNP) & &
€ B Geball |

S fr o Rreedt ¥ @ W8 SO W 9T WING

(A) wad 2 (B) ¥a@ 2 3K 4
(C) %ad 4 3R 5 (D) %aw 1 &K 3
(E) ergar 997

In time series, seasonal variation can occur over a span of :
(A) Greater than 1 year (B) Less than a year

(C) 7 to9 years (D) Very long term
(E) Question not attempted

@ 400 H dredt ufads i @ frae 8§ gwar §
(A) Ta a4 e (B) wah af ¥ wH

(C) 7¥ 9 =4 & (D el arafy
(E) - ergafd ve L i

12 [ Co"



31 Index of health statistics of any country is best represented by decrease in :
(A) Mortality Rate (B) Crude Birth Rate

(C) Age Specific Death Rate (D) Infant Mortality Rate
(E) Question not attempted

fodlt 391 B WA WD & She quws gerd: few ot % g A var oo 37

(&) 19 gﬁ (B) arghfra w1 7T
:}C} g ‘;‘ﬂ =t (D) farg 9g =X

Which is the short cut key combination for folder creation?
Wt B WA S WY qidwe @ (key) waew o @ ¥

(A) Cul+C (B) Ctrl + Shift + N
(C) Cul (D) Fp

(E) Question not attempted / aﬂﬁﬁﬁ e

L~
ra

lsd
L7 ]

English 60, Hindi 75, Maths 63, Physics 59 and Chemistry 55.

A candidate obtained the followmg percentages of marks in the examination :

Find the candidate’s weighted arithmetic mean if welghts 1, 2, 1, 3, 3, respectively, are

allotted to the subjects.

s fael 4 alen § Frafataa gfaea sfw aa f6a ¢
Sl 60, =8 75, @ 63, Hfadr 59 &k WEA 55

gft fawai @ @At 1, 2, 1, 3, 3 &0 9K fean @, ﬁwﬁzﬁrmﬁammaﬂ’n

(A) 615 , (B) 63.5
(C) 64.5 (D) 60.5
(E) Question not attempted / ST TT

34 Match List I with List II:

List I (Famous Place) List I (City)
a. Badal Vilas Mahal I. Jaipur
b. Mubarak Mabhal II. Kota
¢. Nehar Khan Ki Minar III. Jodhpur
d. Mehrangarh Fort IV. Jaisalmer
T 1 & | g 11 & gafea s |
T 1 (v wm) T I ()
a. drRd faa q&d [.  SER
b. TaRE wew I &
C. BT @M @ AR I, ey
d. derTe e V. SaH

Choose the correct answer from the options given below:

Y few T fredi § @ @ ST H GAH BT
(A) a-1V, b-11, c-I, d-111 (B) a-1V, b-l, c-II, d-II1
(C)aIVbIIcIIldI (D) a-Il, b-I1l, c-I, d-IV

(E) Question not attempted / SR HT

92C0M_1 ] a 13
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37

38

mmm{mﬂ %7

The total arca of “Thar’ desert is @
AR’ AR o g e b

0

(A) 2323()4“121112 (B) 238254 kmz £
(©) 248254 0. sk
(I5) Qm,slmn,vnol attempted / arpaft 9941 ,“3

o o
A nmnnwliai?l:xm charge higher price when it operates on :*“;
(A) The inéldstic part of a demand curve 3
(B) The cohStant clastic part of a demand curve
(©) l;:nmm}., clasticity ol demand altogether 0
(D) The cl Btm part of a demand curve iy 3
(E) Quutnqu,not attempted ?"‘:
TN <t WX yeee S W SR PiEd o a3 ::‘? |
(A)qmaas%ﬂ‘hamwm (B) 1 @ % Re @i= art Aw
(C)ﬁma%‘r‘fﬁa%qyia Ty Y (D) =T % & W A A
(E) ergafacys O

In fitting a %tralg,hl line by principle of least squares in Time series, value of the sl
remain unc}hm{,cd with change of the :

iy
(A) OrlglnH (B) Scale and Orlgm
(C) Axis ! (D) Scale <
(E) Qucst16n not attempted @

mﬁvﬁﬁgmwmzﬁrwaﬁ%@amﬁﬁmgq ﬁwﬁqﬁaﬁémﬂw

6)
(A) 7@ fag ' (B) T ik Tw ﬁ%
(C) sta (D) Y= l_”
(E) - orgafed Y e

In a data cn'ﬁ'y office, computer centres are on 15t and 5th ﬂ‘%r Both the centres
connected thmugh LAN. Signals take time for these floors. Whic

ich hardware can impr
the data lraqs‘smsslon? N
(A) Repeater, (B) Router Oy
(C) Computer (D) Modem o
(E) Qucstfé?) not atlcmplcd
Waatzé‘mim wwemmmw%lﬁ&a%ﬂ(mqw
AKED| (ﬁmﬂ aﬂrf Wﬁmﬁwm%lmmmﬁmmmﬁgﬁﬂ
AR O © .
(A) e (B) Tww=T Y
(C) &Y ¢y, (D) #rEw o
(E) orqaf ugw »
92COM-1] &3
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39 Who prepared the dictionary of Rajasthani language?
(A) Komal Kothari (B) Kanhaiyalal Sethia
(C) Sitaram Lalas (D) Vijaydan Detha
(E) Question not attempted
ToRYHT AT @1 yreEehtyr fohae fff fopar ?
(A) ®EA BT (B) adgrare Afear
(C) Ha™ Awd (D) fosraer
(E) o aid wew
40 An effective means of making the villages self-reliant in Rajasthan :
(A) Expansion of Urbanisation
(B) Spread of Urban education
(C) Rural unemployed gets job in cities
(D) Preparation of rural orienied economic plans
(E) Question not attempted
TR H Al BT AR T BT qHrel e €
(A) @ & famr
(B) =l few @1 yE@rR
(C) Tror IASHIRT Bl 9T & T Wi B
(D) wfiw et anfie s a9
(E) orgaia 99
41 Ifx denotes demand of an article and y denotes supply of same article, then x and y have -
(A) Negative correlation. " (B) No correlation. :
(C) Can not predict. (D) Positive correlation.
(E) Question not attempted
uﬁxﬁﬁﬁaﬁﬁwasﬁm%mywa@?&aqﬁfaaﬁm% arxelR y A -
(A) TS FEEE T (B) weddy 7 ¥
(C) e e BT T | (D) uTTH& HeEdy ¥
(E) orgaitd 997
42  An arrangement of statistical data in a chronological order in accordance with its time of
occurrence is called -
(A) Arithmetic Series (B) Time Series
(C) Arithmetico - Geometric Series (D) Geometric Series
(E) Question not attempted : :
Aifgdra siieel & wawT dael, IG 9ied §99 & TR T hEd) & ?
(A) |HIET A0 (B) @@ gl
(C) iy — TuiaT 4ol (D) TR ef
(E) orgaf@ g7
2CoM-1] &3 15
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43 Il the relation between two vmmblc.s x and y is 2x + 3y =7, and the median of y js 2, fing

the mCﬂmn ol x. o0
gy a‘rmﬁs\ x Ny ddu 2x o+ 3y =7 ¥ afre y @ mite 2 %, 'ch o Y AT H By
weh ’f
..g) (o
GV B) 3 &
P o
(©) 3 (D) 2
(.\Ci f:;")
() Qﬁ‘cltslion not attempted / srgafia wgw 1
(o v
< *’ji
44 Cattle fair continues to be organised in the memory of Tejaji at which place in Rajasthar
(”) ;
(A Afgndh | (B) Parbatsar ?;
(C) Jdlore (D) Tilwara L))

(E) %Jcshon not attempted
ﬁmﬁa&ﬂﬁ@fwm%ﬁmwmwmaﬁmﬁqﬁsﬂﬁwwm%?
(A) o B) T 5
(©) e (D) freraret

(E) Sg:ﬂﬂ’ﬂ 999

45  Whichgpair is NOT matched correctly?

(A) I{*gha Pratap Sagar Project - Rajasthan and Punjab
(B) Vyﬁs Project - Rajasthan, Punjab and Haryana
(C) @nmbal Project - Rajasthan and Madhya Pradesh
(D) I\gzj'hi Bajaj Sagar Project - Gujarat and Rajasthan
(E) Question not attempted

Fretfftyy & @ @i g W gaf T ¥

(A) Tg}quﬁuﬂw—wmaﬁrwﬁ

(B) wgwﬁqﬁvﬁm—mﬂm,dmaﬁ‘csﬁwn

(C) a9« ufdimmr — Torg™ it 7e wadgr

(D) q%quﬁa‘nm-waﬁrww

(E) omgaitd we

02004158 92004158 9200
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46 Study the ‘I’ollowing table z}nd answer the question based on this information
Number of gym members in 4 clubs during 4 given years : '

Assuming that a person can get enrolled in one club only,

[GymClub / Year | 2015 | 2016 | 2017 | 2018
A 350 | 250 | 400 | 450 Te
B < | 150 | 105 | 160 | 200 r
c < '
&7 {100 | 95 | 125 | 125
Dy | 120 | 130 | 140 | 130 )
) . :
tha!t is the total number of

persons enrolled in the year 20157

RrefeRad TTEEN B ored Hh < T G
fow U 4 AWl AR 4 Tl § R wewl @ e

¥ oMUty 9T U9 Bl

T ifora
o)

R 7 /@] 2015 | 2016 | 2017 [ 2018 el
A 2| 350 | 250 | 400 | 450 e
B | 150 | 105 | 160 [ 200 =
Cc ] 100 | 95 | 125 | 125 ~
D -] 120 | 130 | 140 | 130 8} :
F A ﬁgvrgaaaqﬁamqaaaﬁmﬁqaﬁgﬁaﬁm%,aasqﬁﬁaézolsﬂigﬂﬁﬂ%
Gl ﬁfﬁ Foa § detieeer foarn? o0
(A) 720 | (B) 825 )
(©) 380 (D) 1450 -1 -
(E) Questi@ not attempted / STFART 9T ﬁ:
47 Match List Iwith List 1T - =t
List I OV List IT
a. Behavidut of Marginal cost curve L Ig;§haped curve
under monopoly market.
b. Behaviour of average fixed cost 1. I;;(’)rizontal straight line
curve ofra firm. . harallel to X-axis)
¢. Behaviour of indifference curve I1I. éjrectangular hyperbola
in case of complementary goods. o
d. Behaviaur of marginal cost curve IV. Negatively sloped: curve
under perfectly competitive market. :;5’
g 1 3% wrageE 1130 ' g
gl O o I
a. WW%WWWWWW . L-3(&R & a9%
b. By el G o RerC I 9 T A L &t e
7 (G318 & HHMIGR)
c. Wa@'ﬁf%mﬁﬁw@ﬂwmw 100 G | LGS
d. gui: e 3 it At @ @ & dael V. FUT® BT AT Th
Choose theeprrect answer from the options given below: = :
S fro o famedt § J g AT @1 I4T : ©
(A) a-l, b-lJ eI, d-1V (B) a-1II, b-1V, CB\‘ d-1
(D) a-IV, belIl, c-1)'d-II

(C) a-l, b-1V, c-11, d-111

(E) Question not attempted / STTART W

1

92Cc0M-1] &3
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48  While tabulating the data, class limits should be chosen in such a manner that :-
(A) Observations are scattered throughout the classes.
(B) Observations are concentrated at extreme points of the classes.
(C) It can be chosen in any way.
(D) Observations are concentrated at the mid points of the classes.
(E) Question not attempted
sticst 1 alias e @, @t Qe & Tu 3 WER S 9 aifE -
(A) eradieT wqot ot § faay 5w @
(B) Srawih ot % W fagal wx e &)
(C) Todll r 70 & = Rear s waar B
(D) ractd =it & wer fygel W g &
(E) orgaRa wew

49 Which of the following statements is NOT correct for Index Numbers?
(A) They are not used for deflation.
(B) They help in formulating decisions and policies.
(C) They measure the purchasing power of money.
(D) They help in studying Trends and Tendencies.
(E) Question not attempted
ahih & foe, o § 9, 99 @ ou g 18 0
(A) ST qvEhifa & oo A =8 Rean simar &
(B) ¥ Frofif ofx iRl @t frefrd a3t F wors A3 3
(C) 3 sua—TEr & wma iR @ Ty ¥ ;
(D) 2 wghaal ok SuAfaEl & aregaT & ¥ Tee oy ¥

(E) orgaf@ ws=

50 In vital statistics, mid year population is calculated on -
(A) August 1 | 7 (B) June 30
(C) July 30 (D) July 1

(E) Question not attempted
ST giftegeh! § Heg quig SEen & 0T &9 B S ?

(A) & (B) s 30
(C) ¥ 30 - (D) g |
(E) eraia s
- 51 In which of the following cities the temple of Sansera Jal Devi Mataji is located?
(A) Jalore (B) Rfljsaxlland
(C) Jodhpur (D) Ajmer

(E) Question not attempted ‘ ‘
U Fered! Jrare & afet frafafea ¥ § few TRo§ Rag e

(A) T (B) TeTER
(C) wirag (D) 3R
(E) srgafa 9ed |
92COM-1] 3 18 [ Contd-



5 «The Indraprastha Industrial Area’ is located in which city?

(A) :T:II;‘;” ' (B) Jodhpur 4.
(C) Ajmer (D) Kota -
(E) Quesllon7 not attempted ‘
ﬁq{%{ﬁaaﬁﬁﬁwsmﬁ TRy alelfie & Rera %7

‘‘‘‘‘

() T B) At
©) s ©) @@ o
(E) orgaia e
(r)
53 Moving average method is used for measurement of trend when -
(A) Trend is, cnon—hnear (B) Trend is curv11mcar
(C) Trend ist ‘of any type (D) Trend is Imeag.

P

(E) Questlon not attempted
uqi%r%}sfi‘m%ﬁvmaﬁ‘ﬁ (i) mwﬁrﬁiiﬁrsm’mﬁmm%uﬁ—

(A) wIRT oitfaw & (B) wafd ami@™ a
©) aq&iﬁ?é‘raﬁwa?rg‘r (D) wafa @E &
(E) argaied; fgs:f | : r i
54 When field of enquiry is small, the method employed for collectlon of data considering
accuracy, tlme and cost, is : )
(A) Publlshed sources (B) Mailed questlonnalre
©) Unpubhshcd sources (D) Direct personal interview

(E) Quest1on not attempted
W9 T (qEaTs) BT & VI €, O W, waﬁ'{aﬁmﬁwﬁfrwﬁgqmm

& @ faRramr gem e i

(A) m&m”\@a (B) w @ T weTae

(C) STomIiaTe B (D) s Wﬁﬁ"ﬁg_mm&ﬁr(
(E) agaﬂq’g?ﬂ | i | 1,

35 Which wonfz?ﬁ received the Nobel Prize twice for her contrnbutlons‘?
(B) Madame MaLe; Curie

(A) Malala-Yousafzai
(C) Shirin ‘Ebadl (D) Mother Teresaf
f

(E) Quesugn not attempted
a e R, ammwmmmm%m

(A) m‘ggtﬁﬂs‘ (B) #=w 7l zrzgﬁg!
(©) furfer mgrdy (D) W&X <X
(B) srgafia wed
CoM-1] & o [ Contd...
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56 If two regression lines are perpendicular to cach other and r is Karl Pearson’s coeff
of correlation in bivariate distribution, then
i 1 vl @ vt w e T fiert dew F wnd o weasy s @), @
A) r=-1 B) r=0
(C) r=wx D) r=1
(E) "Question not attempted / AR g

Cien

The class mid-points, in a [requency distribution of age, of a group of persons are 25, £))
39, 46, 53 and 60. Then, what is the size of the class interval?

Th T AN DY, oy A ararar ol §, @@ b ey fig 25, 32, 39, 46, 53 T 60 %
T TS BT WG T B ?

(A) 7 ‘ (B) 10
) 20 D) 5

(E) Question not attempted / gl ues

h
oo

Average daily wages of all workers in a factory is X 444. If the average daily wages pai¢
to male and female are ¥ 480 and ¥ 360, respectively, what is the percentage of male an¢
female workers employed by the factory.
@Wﬁwmﬁaﬁﬁfﬁaﬁw%ﬁmmﬂM%mﬁwmmﬁzﬁaﬁw%ﬁa
ST ;% 480 MR T 360 &, o %l & gou ol wfewr wtenfat @ whysraar @ @i
(A) 60%, 40% B) 80%, 20% '

(C) 65%, 35% (D) 70%, 30%

(E) Question not attempted / 3rgARa e

59 India has become a preferred outsourcing destination because of :
1. Availability of unskilled labour 2. Quality of IT services
3. Availability of skilled labour 4.  Availability of labour at cheaper cost
5.  Traditional mode of communication
Choose the correct answer from the options given below :
(A) 2,3 and 4 only (B) 1 and 5 only
(C) 3 and 5 only (D) 1, 2 and 3 only
(E) Question not attempted

fo @l @ R eieeEd U @ Uh TG WK WE a9 g ¥ ?

1. swiafea gftrel @ Iuaer 2. omgdn st @ e
3. ufyrfera gfuai @ Sueresdr 4, @ WA W AR @ S

5. d9rt & 9UOOd gied
A fou o fawed & 4 gd s @ gad dfg

(A) Faw 2, 3 ot 4 (B) %eaw 1 ot s
A(C)araa:&aﬁts (D) ¥aa 1, 2 aiw 3
(E) erpafta w8
92COM-1] #k3 20 [ Contd-



60 The aggregate index formula, using base period quantities, is called -
(A) Fisher’s Idcal Index (B) Bowley’s Index
(C) Pasche’s Index (D) Laspeyre’s Index
(E) Question not attempted
s MR@E WSl @1 Wi w A Yol gudhit Wi aar e & 7

(A) Resr amast qamis (B) arge gasis

(C) W gusi® (D) g gasi®
(B) orgaRd wed ,

61 There is a high inverse association between the measures; ‘overweight’ and ‘life
expectancy’. A correlation coefficient consistent with the above statement is -

waiftr aor’ (3rf) W‘W‘Wﬁﬂ’ﬁﬁ?ﬁgﬁ?ﬁﬂw&%lwiﬁmfﬁﬁaﬁﬁﬂma

i @l B 7
(A) r=0.10 (B) »r=-0.10
(C) r=-0.385 (D) r=0.85

(E) Question not attempted / TR T

62 The Chairman of the Sixth Finance Commission of Rajasthan is -
(A) Shri Manik Chand Surana (B) Dr. B. D. Kalla
(C) Kunwar Pradyuman Singh (D) Dr. Jyoti Kiran Shukla
(E) Question not attempted
TR T & B8 faw e % orema B € 7
(A) & mifs == I © (B) I @I Sl @l
(C) Hax TgwAlE : (D) =1 weifa fetor gra

(B) ergaf s

63 Where was the capital of Rajasthan located earlier than Jaipur?
(A) Bikaner (B) Kota
(C) Amer (D) Udaipur
(E) Question not attempted
ST A e TeRATT B T Fer d4r 7
(A) drEHT (B) et
(C) & (D) S&a}
(F) orgaid 957
64 Which of the following is NOT an instant messaging service?
(A) Yahoo Messenger (B) Facebook Messenger
(C) Google Chrome (D) Google Hangout
(E) Question not attempted
frer § 4 @ W arafas dasr (8. ar @ 7
(A) arg, HETT (B) Yags A
(C) T wH (D) T FIMSE
(E) ergafd 9

'92COM-1 -
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65 When 0.1156 is converted into a fraction, the result is :

W 0.1156 @ ws =t ¥ ufafia Rear s ¥, @ oo ¥

2 ¥y 289 (29
W e 10 ) o T
1156 ‘[ 229 .
© 5909 D) Togo ¢
(E) Question nol attempted / srgafa wea (o
o N
66 Ratwai Folk Sén};b are sung in which region? )
(A) Mewar (B) Mewati y
(C) Ramdi ‘ ! (D) Hadoti :;?;’
(E) Question nqt attempted o
Frefefas % ¥ B @ 8 ¥ e S o o ¥ <
(A) Ta - (B) Fardh ©
© w& O (D) wwEif o
(E) ergaia ugq, - ;,f
67 Arundhati Chaudhaty, a well known player of Rajasthan, is asigmated with which spc
(A) Boxing Ly (B) Hockey 1)
(C) Badminton-{ (D) Shooting ,.;

(E) Question noét attempted
Wﬁmf@aﬁﬂmﬁfﬁﬂﬁﬁﬂﬁfﬁgﬁﬁﬁmﬁ@ﬁtﬁm%?

(A) TFAH [ B) e
(C) &&= o | (D) el S (sn?év)
(E) srgafa wsq

0

68 Stagflation refer to :
(A) Dcﬂauonlm periods of stagnant employment
(B) Deﬂatlonnn periods of high unemployment
(C) High inflation in periods of full employment
(D) High mﬂéﬁon in periods of high unemployment
(E) Question not attempted
ehifa nfady feopg weffa &7
(A) e G 4 orafa # sowhf
(B) o adsmml &) sraftn F srawdif
(C) ot W 3 srafer  wear e
(D) woa AT 1 orafu # g AR
(E) orgafta uew

h
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Match List I with List IT :
ist I .
Lis o List 11
. Monlby ";ut P 1etr i I. Money multiplier X initial deposits
o DoERl GUEIL EReater II.  Repurchase rate
.. Bank Rate 1 I
' " Reserve Ratio
d. CCIllral Bank | IV. Banker’s Bank
gt 1 5 @ G & B shifg
T 1 w1 -
S CUN AR I 981 T X yRive AT
b P i w II. T56a o ,
1
- B e Vi
C » 1II. Wﬁ:{a kI
d. e 9B IV. ¥&T @1 &%

Choose the correct answer from the options given belows

o R U foreed § € 9 SO BT 99N HINT ¢
(A) a-L, b-II, c-III, d-IV qugm, 1, oI, d-IV
)

(©) a-l, b-III, c-IV, d-II a-1V, b-III, c-1I, d-1I
(E) Question not attepapi 9

0 If 4:B:.C= M then value of»\EA2+932+2c2 is :
W A:B:C=2:3:4 %, @ 242 +9B%+2C* W1 AT TN :
(A) 4+2B+C (B) A+B+2C
© 4+B+C (D) 24+B+C
(E) Question not attempted / STl T
Ll The number of possible samples of size n from a population of size N is -
N ST ey s & p o F wArE e (§9) @ e ¥
| N!
@ /N B) v
(© ooy (D) Ni/n
n
® Question not attempted / ST ¥
92(}
0 :
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72  For the year 2022-23, who was awarded the ‘Suryamal Mishran Shikhar Py

d Cul Aead o raskar’ by the
Rajasthan Language, Literature an ulture Academy?

(A; Nand Bhardwa] (B) Mangat Badal

(C) Shivraj Chhangani (D) Madhu Achar;f ff'-)‘ Ashavadi

(E) Question not attcmptui

i 2022-23 ¥ Y, T W, mﬁwaﬁrwﬁfmmw

%{éqa frrgror ferert yreemTe
¥ geAId WW? 5
(A) = W\,a (B) #mq 9w &
(C) R & (D) #y omard wsr@]a
(B) ogaid wed &
73 If sum of squa?eg of rank differences in marks of 5 students m Physics and Chemistry
is 15, then coefficient of rank correlation is -

u&aﬁmﬁﬁ%ﬁﬁaﬁaﬂ?wﬁaﬁﬁwﬁm%aﬁﬁ%ﬁ%mﬁwﬁmlsﬁ
a‘raﬁ%muwﬁﬁm@m?

A) 033 B) 0.75 ?;
(C) 0.25 < _ D) 1.1 oy
(E) Question not attempted / a=ia 9e= o
74 The ancient naﬁ'&e of Ahad was: <
(A) Bairath ‘f;; (B) Aghatpur 4.
(C) Tamravati~ (D) Dhulkat o
(E) Question not attempted e
S ®1 WM | o .
(&) &7 "_'i C® s
(C) dme  © - (D) e &S
(E) egaia ua?t | | &
75 Match List | w:th List II: _ O
List T (Inaustrles) : List IT (Place) -
a.  State Woollen Mills I. Bharatpur @
b. ACC Cement Factory II. Bikaner L
c.  Rajasthan®State Chemical Works III. Bundi (Lakhefi
d. Central Ir{ala Machinery IV. Deedwana &
Manufacturmg Company (CIMMCO) S
gdr 1 &% wig I &1 frem st o
T 1 (sgm K SURLIG L PN
e i ' [ @R
b, wHLH. (ACC) gl P 1. €T ve)
C. TSN (Y T Bl L 49 @eE) W0
d. ww dfediagiad gttt IV. <rear b
HETAy (cr@MCO) &
Choose the u)rrect answer from the options given below: o
I fow o Rt F @ wd wOX @ wa i
(A) a-Ill, b- l»-e 1V, d-I1 (B) a-IlI, b1V, c- llgd-l
©) a-IV b- II~\9 -111, d-1

(D) a-Il, b-II1, c-1V, d-I
(E) Questiontnot attempted / Glj’t"fﬁ'd LEEE
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8

19

Most suitable method of collecting data in cases where inf
informants

over a vast area is :

(A) Direct interview

(B) Published séﬁrccs

(€) Schedules sém through Enumerators
(D) Mailed Qucsuonn(nrc method

(E) Question not ,ulcmplul

m@m%ﬁaﬁmms‘raﬂtﬁmma’mﬂwmz‘r v aifws U H ¢

fufer @r BRI O

(C) TOHHT m@sﬁ T e ffr
(E) oTgaikd Usd f“i=

CZS
tﬁen value of 243 (x+ lj is :

‘”‘f f

qﬁ{x—\/— \/—Eﬁ?ﬁ 2x/§(x+;)?mtm{€m1:
A) 12 (B) 36
(C) 24 (D) 16

(E) Question not. g‘:ittempted / e 99

“World Student Day” is ¢
(A) Dr. A. P. 1. Abdul Kalam

(C) Barack Obama

Iyl
i
'{le
{3

)

™
.

)
i)
i
gl
-
(-
]
5}

(3]
Ty
v
::31
s )

ol

o
(&3]

elebrated on October 15, in the honour of :
(B) Albert Einstein

(D) Dr. C. V. Raman |

are literate and spread

% oo Tag SIgHR

(E) Question nQ Jattempted i
) e o “Rygq BT Raw” & ©Y F FA Q@7
o

%aazﬁmaﬁsmﬁ 15 ety

(B) T HIEIET

(A) =1 T 9. ﬁmgﬁ HAH 5
(C) @t e,ﬁarmg (D) 1. @ & W cc\j
(E) emai@ 9970 &
™ ‘
Which city of Rafasthan has been declared as UNESCO HeritageSjte in the year 20192
(A) Udaipur (B) Jaipur s
(C) Jodhpur @O (D) Jaisalmer vl
(E) Question ndt “attempted w3
e % @ @ G af 2019 ¥, Wwﬂﬂmm%w%?
(A) wzage o (B) WYY =
(€) shugr @ - (D) dgeri o
©) e 5Tl
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» EZ)IJlt;rgg:lflltl}\’ tllslat an individual alive at an exact age x, will die during the interval
(B). Number of deaths in that interval
(C) Total number of years lived beyond age X
(D) Number of survivors at an exact age X
(E) Question not attempted
e aelt #, [ B ¥ - . _ '
(A) aﬁmxaéahanngﬁ&lﬂwgwa%,wemﬁmﬁ%aﬁam
(B) S§ Sf@ W Ja TG
(C) x & g % uyar i e aw au B Fe qe
(D) &9& x a¥ & g X SR B qer
(E) orgaid wed

81 ‘Ceteris Paribus’ clause in the Law of Demand does NOT mean that :
(A) the price of commodity’s substitutes do not change.
(B) the income of the consumer does not change.

(C) the price of complementary goods does not change.
(D) the price of commodity does not change.

(E) Question not attempted

i & o ¥ qehim wiew @ ord 78 ¥ T

(A) =g & Wil o HFa T8l & §

(B) SuHien @ T & g |

(C) & aEgelt &l HHd Tel Tl ¢ |

(D) a&g # HFT S&Adl Tl gl

(E) Srgaid wed

Mean of 10 observations is 20 and median is 15. If 6 is added to each of the observation,
then find mode for new set of observations. _

10 sraeieHt @1 mrea 20 3 wiftEsn 15 %1 aft 5l srawie ¥ 6 wis fan s, & 9 sawa
& ¥ & dgad (A8) i HIg |

(A) 15 B) 11

(C) 26 (D) 36

(E) Question not attempted / ST 997

82

83  Which protocol is called most reliable?
(A) UDP

(C) TCP

(E) Question not attempted

B W ADia qaq e fagaa iy 7
(A) AL

(C) Ada.
(E) organd wed

92COM-1] &3 26

(B) POP
(D) FTP

(B) dv.an..
(D) uw.drd.
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84

x»
thn

86

87

Where Was Meerabai born?
A) Chittorgarh £

:Cj Kurki Ty (B) Nagaur
(E) Question nmffij}tcmptcd (D) Merta

SHET B A BEFAT AT

(4) ﬁ;ﬁm 2 (B) =mix

(E) Sgaia 9 O

3 seante ocore <t ~ .
Oriental Research Institute’ is located in which city of Rajasthan?

(A) Ja.ipur 0 (B) Ajmer
(C) Bikaner i (D) J(;dhpur
(E) Question notjili}cxllptcd

mw%iémwgﬁ ‘anfigues Rad sfkeee Rua ¥?
(A) LR a (B) Y

(€) FdTR N (D) eyt
(E) orgaia e ::3\

For certain X and Y series, the two lines of regression are :

5x — 6y + 90 = Ocand 15x — 8y - 130 =0

What will be the mean of X series?

X o ¥ A Qe Y ¥

5 — 6y + 90 = 0BR 15x — 8y — 130 =0 ¥

X §olt T WS w .

A) 20 o B) 25
(©) 30 o s (D)
(E) Question not attempted / T 9T
Arrange the following items in a-chronological order :
1. Adoption ofifirst Industrial Policy Resolution.

2. Implementatioh of New Economic Policy in India.
3. Establishrhent of Planning Commission in India.

4 Formation of-National Institution

5. Beginning oii:First Five Year Plan in_ India.

e i AR S @ e

g § 7S ontas A B HrEFa |

m“Wﬁml
I %WWWWWI

. wrE A wogw qEauia dern @ qren | _
Choose the correctzanswer from the options given below :

%ﬁqmﬁmfﬂavﬁwwwzﬁm
(A) 4,1,5,2, 30 Eg; ;

(C) ]’ 2, 3’ 4’ 56?
(E) Question not attempted / araftd wed

W
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88 Which Tiger Reserve, was declared as the country’s 52nd Tiger Reserve?

89

90

(A) Ranipur Tiger Reserve (B) Guru Ghasidas National Park
(C) Ramgarh Vishdhari Tiger Reserve - (D) Ranthambore National Park
(E) Question not attempted

Frefafan & & @ a1 e ford g @ 5247 T Red Dt frar e

(A) TR T{R R (B) 76 urdieE T Tam
(C©) e favard e R (D) <ot TR SEE
(B) orgaia wew

Which King of Rajasthan was honoured with the title of ‘Vakpati’?
(A) Pratap Singh (B) Munja

(C©) Rao Jodha (D) Abhay Singh

(E) Question not attempted

W%ﬁmwaﬁ‘wﬁr’aﬁwﬁlﬁwﬁamwm?
(A) wdamiis

(B) 3=
(C) = S (D) emvafts
(E) ergana wed
Monopolistic competitor will produce upto that level of output where
1. Marginal Cost (MC) = Marginal Revenue (MR)
2. Marginal Cost < Marginal Revenue
3.  MC > MR; after MC = MR
4. MC is decreasing
5.

Difference between TC and TR is minimum’
Choose the correct answer from the options given below :
(A) 2 and 4 only (B) 1 and 3 only

(C) 4 and 5 only (D) 1 and 4 only
(E) Question not attempted

UHTUEHT widrf Fad W @Y a6 IQET BN, Sef
. 4w @rm (MC) = dmig dwif / e (MR)
2. dmid arE < duid duiid [ o |

3. MC = MR & g MC > MR

4. MCuz @ %

5. TC T TR & =gram siaw ¥

A fow T famed § q g st @ g @R

(A) %aa 2 ot 4 (B) ¥ew 1 o 3
(C) &aw 4 3T S (D) ¥aw 1 s 4
(E) orgafia e |
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{ m and ny are the sizes S =
TR T of the : 3 HOE A1,.X5 are the respective means of two groups, then the
mean X" of the combined group o

aft A T B B 3T Tey gy,
wE B X @ gy

[size ny + 1, is given by?

moS iy o ), X, E, /oy ny ST AT HE

X+ X
(l;) ._.-!,,___._.2._
- = n -+

m\+m.\r
© m+n (D) mmy(X+X7)

(E) Question not attempted / srgaf g

92 Which National Park / Wildlife Sanctuary, is NOT paired correctly?
(A) Sariska Wildlife Sanctuary - Alwar
(B) Mukundara National Park - Bundi
(C) Keoladeo National Park - Bharatpur,
(D) Ranthambore National Park - Sawai Madhopur
(E) Question not attempted '
frefoiad T S [ 9= e evERa # ¥ @ a1 g ady gatid T@ 57
(A) | a9 g AR — ofeay
(B) FF=U TR IAH — L@
(C) HawRd T T — HIAY
(D) TR TR FaE — gar§ HTEY
(E) orafa usA

93 The Chittorgarh fort was constructed by -

(A) Chitrangad Mori (B) Maharana Kumbha
(€) Vijay Pal (D) Raja Badan Singh
(E) Question not attempted

fexireTre &1 fee fee awamar ?

(A) fa=ime 4 (B) AT g

(C) faera 9 (D) TS T&q fiw

(E) ergafa e

% Who was the first Dhrupad Singer of Rajasthan? ¥
(A) Veena Sharma (B) Shalini Kumari Tailang
(C) Madhu Bhatt Tailang (D) Namrata Bhatt
(E) Question not allcmpt%iq ?
TS &1 gy A or |
(A) 1 gmaf o (B) enferlt gardl dein
© Y g A< (D) Audr wig
) orafia we

N
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. & 3 ()
. nstitutes in Rajasthan?
95 What was the major objective of industrial promotion 1

(A) To promote new industrics a0
(B) To help in mdusllml produce distribution i

(C) To provide lmanu, to industrial units . Mj
(D) To train new dmcpmnuns . Pas
(E) Question not allunptul ' f
e 3 ofifes e e o v S P2
(A) =T SERy & ';f(fm%?r HE
(B) oleifies I & femwor & weraar H¢ e
(C) oirelfres saredi e e e 1y
() T Sl 3 G e i
(E) erafa wed 2;-;;; | ( b
- =
3

96 According to the ;’;f(ill Census, the only Indian State, showing déé!ine in population
compared to the 2001 Census is -

(A) Maharashtra (B) Nagaland o0
(C) Kerala X (D) Goa ' i
0 5~i

(E) Questlon not a ;empted

2011 I FIUET % R, mmmmmﬁmomaﬁwmaﬁmﬁww#
mﬁr(ﬁmaz)qéﬁ“a%%—

(A) TERT ::;2 (B) =rmde =
(C) T wi (D) Tien

(E) orgaita wsd : 0

~ i

‘ . &

211 =f

97 Three equal sized vessels have 337 milk respectively. Remalmng—*portlon is filled up

with water, Mxxturc,ls then poured into a big container, What will, be the ratio of milk

and water in that container?
™ ;;5}
é‘ﬂimarqmﬁrwxj?r 33 Gﬁ’( miﬂﬁﬂﬂ%laﬁmwﬁ;ﬁwm%lﬂ
ﬁﬂﬁﬁﬁnwaﬁmﬁwm%la%wﬁgaaﬂtvﬁhwww@w
(A) 5:7 i B) 7:s <
(€) 245 o D) 1:1 =
(E) Question not fa?;uemptcd / Srpaft wg o
: - e}
o
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he algebraic sum of deviati . ) £ a it :
1]1"1 e s Cviations of the given sct of observations from their arithmetic
Always 1
(A) Y { (B) Always o
Always — |
© y 10 : (D) Always zcro
(E) Question not attempted

R T SAABA & WA Wem & Ry Rt Aol e g §

(A) & 11 B) T o
(C) qd 0 (D) @a 94
(E) STgaid Wed

which of the following institutions are regulated by Reserve Bank of India as All India

Financial Institution?
1. Export Import Bank of India
National Housing Bank
State Bank of India _
Small Industries Development Bank of India
5. Central Bank of India
Choose the correct answer from the options given below :
(A) 3 and 5 only (B) 1,2, 3 and 5 only
(C) 1and 2 only - ‘ (D) 1, 2 and 4 only
(E) Question not attempted
ﬁwﬁé,%ﬁwﬁmﬁwﬂﬁé%mﬁ%mmaﬂaﬁﬂmﬁuww@m
fprafir fpar war &7

Wiy frafa o S

w1

(A) ¥aw 3 T 5 1,2
(C;mlmz (D) Faw 1, 2 3K 4
(E) ergafa 997 ;

\ . forms all sort of calculations?
X})nc}é Smt of computer per (B) RAM
(C) ROM (&} alu
E i attempted
awgc—((' ) Qa;“,esaﬁ%f{“é’oéé’zcm?r eIt & e GGl &7
(A) & 7 ‘ (B) & U uw (W)
© et o TH (39) (D) 5o g
(E)  ergafta v
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